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According to the RAN2#116-e meeting discussion, RAN2 agreed to use the HARQ-NACK (i.e. CG retransmission scheduling addressed by CS-RNTI) to determine the triggering of the survival time state, as follows [1]:
	Agreements:
1.	A RRC parameter is configured for a DRB with Survival Time support
2.	MAC entity shall handle the determination of triggering survival state based on HARQ-NACK 
3.	For the DRB configured with Survival Time support, the network can control the duplication state for the DRB via legacy activation/deactivation MAC CE. No specification change is foreseen.
4.	For the issue that there may be packets already sent to RLC before the pre-configured PDCP duplication configuration is activated, following entry into the Survival Time state, it is up to gNB/UE implementation to handle and no need to specify extra behaviour
5.	RAN2 not to consider the interaction between Survival Time solution and handover procedure in Rel-17
6.	No specification enhancement will be pursued for CG activation command as Survival Time state trigger
7.	The baseline mechanism for Survival Time support is “CG resources will be used for service with Survival Time requirements, such that the mapping relation between the service and the retransmission grant is commonly known to both gNB and UE, and CG retransmission scheduling (addressed by CS-RNTI) can be used for Survival Time state triggering”.  
a)	FFS how UE identifies the corresponding DRB that should enter Survival Time state and other details (i.e. resource allocation)
b)  FFS on unlicensed band
8.	Deprioritize autonomous activation of PDCP duplication based on inputs other than retransmission grant


According to the email discussion summary [2] for the survival time, it is still controversial on whether the more than one HARQ-NACK(s) should be counted as the trigger of entering the survival time state. In this contribution, we provide some clarifications on the survival time requirement as captured in the SA2 TR and some potential RAN specification impacts. 
Discussion
Survival time requirement and HARQ-NACK count
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According to the survival time requirements from the 3GPP TS 22.104 [3], the survival time could be up to 60s, and with common values of tens of milliseconds (e.g. 50ms or 100ms). Then HARQ feedback timing (e.g. normally around 10ms) could be much less than the survival time requirement.
Observation 1: The HARQ feedback timing could be much less than the survival time requirement, which can be up to 60 seconds according to 3GPP TS 22.104.
According to the RAN2 agreements [1], while entering the survival time state, the UE would autonomously activate the PDCP duplication of the DRB which is configured with the survival time. This means that the number of PDCP PDUs of the DRB configured with survival time will be doubled or tripled (for multi-leg PDCP duplication), and more uplink resources will be used for the transmission of duplicated PDCP PDUs. If RAN2 only uses “N=1” HARQ-NACK to trigger the entering of the survival time state, the service with longer survival time requirement could enter the survival time state too early, and cause unnecessary consumption of uplink resources.
Observation 2: Only using “N=1” HARQ-NACK to trigger the entering of the survival time state will lead to the unnecessary uplink resource consumption for services with survival time longer than the HARQ feedback timing.
To avoid the uplink resource waste and to allow more flexible control on the survival time, we think that “N>1” HARQ-NACK(s) to trigger the entering of the survival time state can be configurable.
Proposal 1: “N>1” HARQ-NACK(s) to trigger the entering of the survival time state is configurable.
On the other hand, as the survival time requirement is to provide more reliable transmission for the UE when some data loss occurs, the counting of the HARQ-NACK(s) should be performed per HARQ process. From our understanding, the extra standard effort for “N>1” HARQ-NACK(s) trigger is quite small, as the UE would anyway has to differentiate the HARQ process used for the survival time DRB, from the HARQ process used for other DRB(s).
Observation 3: The extra standard effort for “N>1” HARQ-NACK(s) trigger is quite small, as the UE would anyway has to differentiate the HARQ process used for the survival time DRB, from the HARQ process used for other DRB(s).
Proposal 2: The counting of the “N>1” HARQ-NACK(s) for survival time is performed per HARQ process.
Conclusions
According to the analysis given above, we have the following observations and proposals:
[bookmark: _Toc502437832]Observation 1: The HARQ feedback timing could be much less than the survival time requirement, which can be up to 60 seconds according to 3GPP TS 22.104.
Observation 2: Only using “N=1” HARQ-NACK to trigger the entering of the survival time state will lead to the unnecessary uplink resource consumption for services with survival time longer than the HARQ feedback timing.
Observation 3: The extra standard effort for “N>1” HARQ-NACK(s) trigger is quite small, as the UE would anyway has to differentiate the HARQ process used for the survival time DRB, from the HARQ process used for other DRB(s).
Proposal 1: “N>1” HARQ-NACK(s) to trigger the entering of the survival time state is configurable.
Proposal 2: The counting of the “N>1” HARQ-NACK(s) for survival time is performed per HARQ process.
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